Midterm Exam

CS 111, Principles of Operating Systems
Fall 2017

Name: C alets Cha

Student ID Number:; 206048056072

This is a closed book, closed note test. Answer all questions.

Each question should be answered in 2-5 sentences. DO NOT simply write everything
you remember about the topic of the question. Answer the question that was asked.
Extraneous information not related to the answer to the question will not improve your
grade and may make it difficult to determine if the pertinent part of your answer is
correct. Confine your answers to the space directly below each question. Only text in
this space will be graded. No question requires a longer answer than the space provided.
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1.

between a page and a page frame?

In a system using modern virtual memory techniques, what is the relationship
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Why are operating system ABIs of importance for convenient application

software distribution?
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3. Why is information hiding a good property in an operating system interface?
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4. When an operating system performs a context switch between processes, what
information must the OS save?
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What is the purpose of a trap table?
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What is a race condition?
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7.

kernel-

8. Why
preemption?

Why is blocking a problem for user-mode threads? Why isn’t it a
mode threads?
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9. When a Unix-system follows a fork with an exec, what resources of the forked
process are replaced?
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10. What form of fragmentation do we still suffer if we use a paging memory

management system? For a segmented paging system, how much fragmentation per
segment do we see?
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